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LT = 34, 479, 900
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C-40 18-8-40 (#FifF) WEAKY—ME ;
FRIE D T = 18,601, 000
FR[E 67 ry) T = 18,601,000 |4855ER 950 £
2t (BHAERERD BEAM ;
BB T 2 1,279, 750
TA7 7 Ml T X 1,279,750 | TEEME (BE - BRIE D) 500 m2
FEITyYr77 RC-40 A VW E 150mm ;
g (I - BIF ) 500 m2
AR EET 22 (20) &H%EE 50mm 3. Omid ;
LEFEAET 2 1, 930, 065
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AR (NI T HD)
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JEESRALERE T = 632, 260 | HEEESF AL 1, 000 m2
HEAE BB ST ULE (Bl ) 50 m3
VU%ax ¢ 60 m3
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SN AL T =Y 399, 512
S BLERESE T Y 399,512 |hnaEE 1 =X
VU%ax ¢ 1 F2V
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A Y 3,989, 742
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it R o 5 (2. 0t/)
A ERE E T = 2,962, 000 | A3 WA (K 2 1 =
[ERAE Xy = 79, 420, 229
HiE 2 = 5, 253, 000
Mo R 2 = 582, 000
BGRESCGES (5 1) = 582, 000
B (FEHL) = 4,671, 000
T = 84, 673, 229
Bl gy = 17, 938, 000
T =5l = 102, 611, 229
— R A = 13,718, 771
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